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1. Phototropism is ht % W 'l%
(A) Response of plant towards 9% ls VA) S 1 3 o wfrfee
(B) Response of plant towards CHEMIEE B) T A 3l R i
(C) Response of plant to gravity (C) T & o7 iy oy ?ﬁﬁﬁ?ﬁl
(D) Response of plant to waler (D) & Ed 343R tﬁﬁ i Hﬁ[ﬁﬁ"m
2. Find the missing number in the sequence, 2. oEe .
8, 13, 20, 2, 40, 53 oy 0 13.20.7, 40, 53 et wew yrw
(A) 25 B) 27 Ay
| C) 29 D) 3t o ale
| | (C) 29 (D) 31

: L Ty f 3. 0
.

get a weapon called
[A) Agneyastra (B) Asvarishta
(C) Pashupatastra (D} Mrita S&nii!iiﬁi

4, Th [ : f 0l |
ans E-E;?Eﬁ g?EmEen the points (a, - b) 4. 193 (a, - b) ¥ (~a, ~b) % ofiw i =i 3
:2; V2a (B) 0 (A) 2a (B) 0 )
H (D) V2(a+b) (C) a (D) VZ(a+b)

3. Drona, the teacher of Pand

avas fought on 3. q@ﬁ:ﬂ'ﬁi}m, FoE R

= side during Ky, j
(A) Pandavags ; (Br;k;h:tm 8 Er‘?iaff{q_;lﬂéi
(C) Kaurava N iy
(R D) Leit EC: Eﬂ'ﬁ‘. -
. ] D) 9|
6. Gurgaon di |
g sirict o Heryang was formed iy 6. EfEmm & HERIERE ror| a9
-3 : | H 5T |
C) 1 B) 1984 '
) 1979 ©) 190, (A) 1873 (B) 1966
7. The sum of N i (G} 1979 (D) 1995

number formeq 1, digit NUmber

ormber ang g b e o
the digits is 154. "E'ifgs"-’ﬁl.r?lng the &t th; 7. Tk q] ‘3:]3'?] ED| HE&1 3T :ﬁ:ﬁ‘ﬁ & e w

number is "€ digits dife, by a = :
| | ¥ U G .
(A) 95 or 59 Y4, the | octs Eh'_fa}f‘TTE:ﬂr% lﬂﬁw?ﬂm
(B) 51o0r15 l , 01 HE §
(C) 26o0rg> (A) 95 or 59
(D) None of thegg | Egi g; ziég
P | S b mps
(D) &0 4§ H15 &
)8
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8.

10.

11.

12,

13.

Copper reacts with moist carbon dioxide In
the air 1o torm graen coloured

(A} Copper oxide

(B) Copper carbonate

(C) Copper chlornde

(D) Copper carbide

Area of the circle inscribed in & square of
sidde 1 cm is

A Zom B) o
(A) Eﬂm ( 2
(C} mem? (D) 2rcm?

The Shivalik Hills are not found in the
districts of

(A) Ambala

(B) Panchakula

(C) Sirsa

(D) Yamunanagar

Approximately one cusec water is equal to
(A) 2B8.317 litre/second

(B) 28.317 litre/minute

(C) 28.317 litre/hour

(D} 28.317 litre/10 second

It 9" July was Monday, then 26" July of the
same year was

(A) Wednesday
(€) Thursday

(B) Tuesday
(D) Monday

is the first governor of Haryana.

(A) Shri B. N. Chakraborty
(B) Shri Dharma Vira
[C) Shri R. S. Narula
(D) Shri G. D. Tapase

10.

11.

12.

13.

4/2018 (1) (M1 8)
ciar syl amrel gl THATES = WY am i
Wﬁfﬁmaﬂﬁmﬁb AR
(A) e TS
(B) =i L
(C) =hiTt FATES
(D) X HAIEE

B
EGmE (B} Ecmg

D A
(D) 2mcm?®

(A)
(C) mem?

Rranferr &1 Teiled e |
R

(A) STETEI

(B) TEEHEN

(C) Tawan

(D) THATIR

=% T BAI & |

| FES STe
(A) 2B.317 &l /4hs
(B) 28.317 witex /e
(C) 28.317 wiet/war
(D) 28.317 ¥t/ 10 Te

afe 9 SRS N Wi o, ) SH ad 5
26 IR Fi o |

(A) FEET (B) HEam
(C) Team (D) HmaER

- IO 3 Sy Tt 9 |
(B) . af dix

(C) . AN, TH, J6a]

(D) =1, <. 2. o

g
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. | —— | 14, gl gfemn § -
14, TherverYamuna flows onthe ———= | | ——
bﬂundaw of Haryana. ' ; E"E-'Fﬁ % I :Fﬁﬁﬂ T
(A) Eastern (B) Naﬁhﬂ!’ﬁ‘- (A) gt (B) 3wf
(C) Westem (D) Southerm (C) ufeert (D) =fawf

-
=,

iImigation on
(A) Tubewells
(8) Canal B, I
(C) Rainfal (C) =uf
(D) Multi channels (D) wgd ® S9a
e _ battlefield is also refered @8 | 1g. qfi o :
Land of Righteousness' | Fﬁ&fﬂ? i e "i&f nanR
(A) Panipath ; | nl
(B) Kurukshetrg ! )
(C) Mewat ) ﬁz &
(D) Kargil ©)
,, (D) =S

17.  Haryana ranks firg |
" " the productionie 17 -
| (A) Spices & Nl - - I F RRerom 7 ez 3
(O) Catbage (o) yygrugl | - e (B) 3
18. Read the followin p 1 i .

g statem entg:

b. (% 9§ sy |
% Sk ?TG‘T%, del
R T by
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19. The battle of Karmal was foug

20.

21.

22,

23.

24,

ht betweean

(A) Nadir Shah & nd Shah Alam |
(B) Nadir Shan and Mohammad Shah
(C) Shah Alam and Mohammad Shah

(D) Nadir Shah and Aurangzeb

A spherical mirror and thin spherical lens
have each of jocal length of + 25 cm. The
mirror and the lens are likely to be

(A) Both concave

(B) Both convex
(C) Mirror is concave and lens is convex

(D} Mirror is convex and lens is concave

Raindrops are spherical due to
(4) Continuous evaporation
(B) Viscosity of water

(C) Air friction

(D) Surface tension of water

is used in the manufacture of

borax.

(A) Washing soda
(B) Baking soda
(C) Brine

(D) Baking powder

The third battle of Panipat was fought
guring

(A) 1761
(C) 1556

(B) 1526
(D) 1739

A corporate entity which was &_'eceﬁﬂ‘é'
became 2™ Trillion Dollar public liste
company In the world is

(A) Apple

(B) Amazon
(C) Alibaba
(D) Walmart

Download from www.MsEducationTv.com
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19,

20.

21.

22i

23,

24,

h g & P d vgFa g e |
(A) T FIET

(B) &fHm Fier
(C) g

(D) T ITI=X
ITHiTa 1 e I3
TSl 7T |

(A) 1761

(C) 1556

(B) 1526
(D) 1739

T e S5 Y et o 1 a1 2 fgferm
SIeR et Fefige s a1 ©

(A) T

(B) =it

(C) Fiamen

(D) aieme

@3 Scanned with OKEN Scanner

(¥ scanned with OKEN Scanner



oy
_________

4/2018 (1) (M18) 25. T sl = o e ey 7

25. Wh dered the P
-.Jahgﬁl 2 -~ imuf; (A) Tfex g (B) #hy
(A) Nadir Shah (B Abu Al (C) ¥eme
(©) anmadShen (D) A e (D) &g arh
* g-lﬁd the number which is not | 286, ma‘ﬁfﬁﬁammaﬁ |
: A’;“g?'ﬁ" (B) 31 (A) 29 (B) 31
D) 41 (C) 39 D) a1

(C) 39

2. Hund B 27. HUHM =7 a7f 2

vana Urban Health Mission
ana Upper Heavy Maching

Under Honest Mission (C) B T8 airee oy
Urban Human Sche | (D) B ardy FUEE=Ar

28. Which gammittee recommended the | 28. W@ Y i iy
1 Gl - - ﬁﬁ]ﬁﬂ’maﬁlmqul
.

stablighment of the scheme “Democratt
;:: ilisaton”in India ? . I wegf fw whfy 3 o 2
(A) AshokMehta Committee | (A) oT¥Ti=h Teer wfify
(B) BalWentRai Committee | (B) =i T wfify
(©) GARao Committee | (C) . 3. %, vz afify

(D) Ga

| (D) TiehE afh

29.  Solutions ofihe

4@32. <) .‘

| 20, wfim 4/3x% + 5x - 23 = g & B 2

(A) V3,5= | | (A} VB, = V3 -2
: ; B - =
V3 . | . e "

) 4 g Y3 4
(C) 5 73 (D) V3,2

30. The second batt Fani

between Hemu ang '

30. THIYT 1 TET 7 ¥ i % &

(A) Aurangzeh b ey
(B} Nadir Shah ) wliern
(C) Akbar (B) i wm
(D) Timur C) IR
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32.

33.

37,

. Theidea of residuary powers with the cantg,

A g

in Indian Constitution was borrowed {rg, |
the Constitution of

(A) France
(C) Australia

(B) Canada
(D) UK

Which among the districts in Haryang hag

highest population density 7
(A) Gurgaon (B) Panipat
(C) Faridabad (D) Sirsa

If 'TEST is coded as ‘64" then 'EXAM' is

coded as
(A) 34 (B) 43
(C) 45 (D) 44

50 J of heat is produced each second in |

a 5 2 resistance. The potential difference ,
across the resistor is

(A) 50 V (B) 40V
(C) 510 V (D) 10J5 V

In A ABC, AB=2./5ecm, AC =10 ¢cm,
BC = 4./5 cmthen |B is

(A) 120° (B) 60°
(C) 90° (D) 45°

In which of the following states the saddle
peak is situated ?

(A) West Bengal
(B) Andaman and Nicobar
(C) Goa

(D) Coconut Island

Thari Pension Thare Pass Scheme introduced
during 2015, with a view to ensure

(A) Transparency in pensions

(B) Transparency in government results
(C) Transparency in supply of cooking gas
(D) Transparency in social security

pensions

2

Download from www.MsEducationTv.com

d1.

32.

33.

34,

35.

36,

37.

(B) 43
(D) 44

(A) 34
(C) 45
g 5 R eI e 50 J HH] 3
2w 2 | e ¥ fvaia s

(A) /50 V (B) 40V

(C) 5@ v (D) 105 V

A ABC . AB = 2.5 Hl, AC = 10 Hdi,
BC=4.5 GHidl [B 8

(A) 120° (B) B60°

(C) 90° (D) 45°

frferitam i 4 form Tou T Yew S sEiEa & 7
(A) TR T

(B) 2¥eUH N fF=HER

(C) T

(D) TiES € T

AT U 9T 98 T 2015 F B,
YT 1 % fofo 37% 1 77s |
(A) T A IR

(B) H@R Tionmt 1§ yreffar

(C) T =Telt g i rgfd § qraftan
(D) HmTF: e Y o rafifan

P
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38. The date of election of the S
Loksabha is fixed by

(A) Speaker Pro team
(B) Rajyasabha Chalrman
(C) Minister for Parliamentary Affalrs

(D) None of the above

39. fthe equations 5x + ky = 3 and 'lc!{:-;--i-zﬁ‘f =3

represent the same line then k =

A) 1

(B) 5 "
C) 3

(D) None of these

%0.  Ranijit sagar dam is constructed on which

of the following rivers 7
l,'g} Ravi (B) Sutlej
(C) Beas (D) Chenab

4. If 2cosec? 30° + xsine : n?
. 60° - — =
2 tan® 30° = 10

then value of x is

(A) 1 B) 2
(C) 3 EDJ) 4

42. Tiriya ke Masmaom is written by
(A)  Altaf Hussain Haali
(B) Amir Khusro
(C) Umrao Jan
(D) Allabaksh

43, Who among

famous quote, "an uncontrol
but to destroy" 7

(A) Leo Tolstoy

(B) John Ruskin

(C) Mahatma Gandhj
(D) Swami Vivekananda

Download from www.MsEducationTv.com

WEKEF of

the fnllnwing 8 Known for the
led pen Serves,

38,

39,

40.

41,

42,

43,

R g I

W*;ﬁm%wﬁ%ﬁr
(A) T

—_—

Guflaeott 5x + ky = 3 3T kx + 5y = 3
HAME 1G] w9l & Al k =

18 2cosec? 30° - XsSin260° —

30° =109 x =T gy @
(A) 1

(C) 3 (D) 4

2
4an

(B) Gfmﬁ-.r;
(C) wETeqT 7hiy

(D) =t R
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owards East and tums
ntums left and

P
44.

Mr. X walks 1 km 1

and walks 3 km. He agal

ight
- walks 15 kmy North.

walks 4 km. Finally n® -
om ihe starling point ?

B) 13 km

How far is he fr

(A) 20 km

(C) 16 km (D) None of these
45. 1f P(E) = 0.45 then probability of ‘not E' is

(A) 0.6 (B) 0.55

(C) 0.5 (D)

cubes each of side 1 cm are joined
» ;Eéel?: and. the surface area of the resulting

solid 1S ,,
(A) 7cm® (B) 14 cm®
(C) 3cm? (D) 8 cm?

47. _ district is famous for light

engineering goods industry.
(A) Ambala (B) Rewari
(C) Faridabad (D) Gurgaon

48. Match the following :

. Jai Jawan Jai 1. Lal Bahadur

Kisan Shastri
Il. Jai Jawan Jai o Atal Bihan
Kisan Jai Vigyan  Vajapayee

EIIL Act East Policy
Rao

IV. Look East policy 4. Narendra Modi
Select the right code !

(A) I-111-2 -3 IV-4
B) I-1 -2 1l-4 V-3
C) 1-21-111-31IV-4
D) 1-2 11—-1 1ll-4 V=3

49. Complete the analogy.
Video : Cassette : : Computer : ?
(A) Reels (B) Floppy
(C) Recordings (D) Files

Download from www.MsEducationTv.com

3. P. V.Narasimha |

gea & ol fiw 2t
4 fordt. E
ad ﬁxqg;;haﬁﬁglagqﬁﬁﬂwmqw
s | siow, 1 16 T ST e
w0 A AT
§19 ﬁﬁtﬁ ) 13Tt
W2 (D) TR
(C) 1-Eﬁi‘ﬂ-
; 'ﬁuim%ﬂ‘l%
_0.45 1 g AN
45. ?:P[ﬁ: . (B) 0.55
1
©) 05 (D) .
s v 3 i G TR -G Y
46, ﬁmﬂzwgﬁmq@maﬁw%
5 (B) 14 cm*
I &
o ﬂﬁmﬁ#ﬁﬁﬂﬁaﬁm%@
TRE 2 |
(A) S B) W
(C) LTS (D) TsTd
a8 Frefifiaa sy
| 519 ST 5 1, T STRTGL Il
feram
|, S S 59 2, 3 Tl Al
T v fae

. @sd w0 A 3. 6. . e T
v, & AR @ i 4, Tz T

el e g ;
(A) I-111-2M-31V-4
(BY 1-1 1l=2 IH1-4 IV-3
C) -2 =1 1W-3IV-4
D) (-2 1l=1W-41IV-3
m'%ﬁzw'?
(A) U (B)
(C) Reitém (D)
-9- p
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4/2018 (1) (M18)
50,

31.

S2.

34d.

54,

35.

56.

VImEI s e waim e s SRR (1]} lm lm |

vomment Le. | orfiy ﬁﬁm:ﬁaiﬁ;:gu; » T l'
alf =10 i 2
To contest in Inﬂﬂé ﬁﬁlﬁcﬁpﬂll“[“;, hy Wa‘gﬂ‘%ﬁ " X
Fanchayaths 807 5oL d @Bl i (B)
minimum age that on g} 21 (A) (D) 18
(A) 20 Em s (C) 24 |
“ 8 - pamad W gAY b
< g’ g '+, 'r’ Me&NS "+ 51. AR ‘p “A17p 1614 B
If ‘' means 'x', 'q’ mean s TR0 . 3:[?:3' : ﬁﬂ‘s'maﬁ* P 3 g9
| ‘o 17D 16 rdﬂﬂ-ﬂ = +y
and 's’ means ‘- then 17 p (B) 68
_ B} 68 (*GJ 51 '.
(A) 51 ': | (D) 69 i
69 e
(C) 17 (D) © S
_ . ST T ST FTA 459 2 | i
Th i the ages of a father and his Son | 52, e it TR = -
5 58 e Pt e s b gt | % e
Of their ages ﬁin years) was 124. i'vg:l o LB EHTgiITHEﬁ |
Present age of son. t | (B) 1039
(A) 9 years (B} 10years (A) 9=
(C) 15years (D) 5years (€) 159¢ (D) 599
TS is the zero of the polynomial 53. i3 AGURH f(x) = ax? + (22 + 1) x ~ 575 U
E{x)=.ax2+|:za+1-}|xuﬁthenwalueufais WS%,ﬁEHﬂm%
(a) 2 B = > 4
- 3 5 A 3 (B) 5
Elehafi _fair Is held at | 54 Farh B K, e e 5
(A) Karnal (B) Kalthal (A) T B) e
(C) Faridabag (D) Panchakula (C) wiemme (D) T
Which of the rcﬂmwing- movement th
ritish HEJ as Ehaken {0 its fo dE’., e I 38, ﬁﬂ%‘%ﬁ ﬁﬁﬁq aq'rera-_-{ ﬁ %
or the first time since 1857 <ol SRRELI O07 T s
INdependence 7 St war of 2O I % Rl R Teifem TS i
(A) s | :ﬁawﬁaﬁﬂﬂ?
) Swadesh; Movement ._; _
(B) Home Rule League Movemeny - ! e
(C) "Rowlat Satyagran (B) Eﬁqﬁ?’?ﬁq a:l'l'n:'."’lfvrq
(D) Nen-Gooperation Movemen (C) @E MR
Find the ; D) S T
' Which is dji
e 2 P given bty ™ oM the | g . o o S g
(A) Carrot B) Potats ﬁ;ﬁ:ﬁé-ﬁ_ﬁ - T & fempei o
i te TSR
e Tornm (D) Beetrpgt A) (B) T
'I C) zamey (D) “Tivar
-10- '
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g, Guiar Mahal is located at ' . T B
, __ A) WL .
(C) Ambala (D) Panipath :0, o (D) HBIET
‘which part of Hi ' a1 i v s
gs. In which part of Himalayas do we fing 1he | . & o W 1 aptal VLU S
Karewa formation, & unique type of o | 58, fBTerd & erraqy ST B 7
ormation 2 " haul iype of so s @mﬁﬂmmm
(A) North-eastem Himalayas (A) m.ﬁ%ﬂi’ﬁﬂ
(B) Eastemn Himalayas (B) @ﬁﬂqﬁﬁu |
(C) Himachal-Uttarakhand Himalayae ©) W_Wmfﬁmﬁﬂ
(D) Kashmir Himalayas tﬁ} it feme
§9. The values of x and y satisfying the geffaol 6(ax + by) =38+ 2b it o
equation Blax + by) = 3a + 2b and - 6(bx —ay) = 3b - 2a a—,’r-g‘gﬂ & F e
E{MT‘HYPBD;—%ME x&iﬁ(y%m%
Al —=X Yy=-— A~ 1
(A 2 13’ 3 (A) —2%-’::-?'5
E. x = - y - 3 1 o
:G: x—i’gy-—a % ?‘"Ery E
| Bl (C) x=2Yy=2
(D) None of these (D) Eﬂﬁﬁqﬁ
§0. Normally, in a healthy adult, the initial fiterate | gp, wWT=IE: TFH e En H, EERL q Wﬁﬁ‘?
~inthe kidney is about litre/day. e ?ﬁafﬁﬁﬁ?{ﬂﬁﬁﬂﬂﬂ%’mﬂ 2
(A) 60 (B) 120 (A) 60 (B) 120
(C) 180 (D) 90 (C) 180 (D) 20
§1. The 38" parallel north frequently in news, | 1. 38 df TR FAC AR G L
- itisa | T8 &
) Eﬁ;i?; line between North Korea and Ay 30 FRET 3 ww & a9 g
~ (B) Border line between North Korea and | (B) <= FifEn sl et it & &6 |
; South Korea — ]
Military exercise between Soulh Korea |
: & and L?é.fu (C) =T i 33 FuEe ok EF A
| (DY Military exercise between Russia and (D) w2 30 i F = o AT
. North Korea
— 62. A TEIfEAl F1 2w o
2. The highest point of Mo Hills is known as o
(A) Karoh Peak (B) Garofn Peak (A) FRIE T (B) e Fiel
(C) Tosa Peak (D) Grasher Peak (C) e = (D) I =
j | 11- P
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63.  Fing the missing lettars (7) rom 8 OPtions 10— e \wyB, FHK, OQT & et g gy
lor 7. NPS, WYB, FHK, OQT (7) el & |
(A) EGJ (8) DFJ (A) EGJ v
(C) CEH (D) GIK (C) CEH SR
64. Cash reward for Inter caste marriage in 64. ET'FRITU'I'I'EI am'w'rfﬁﬁ'ﬂ IEIE“E %ﬁ‘ﬂl-ﬁﬂl
Haryana is ETWR%
(A) Rs.10,000 (B) Rs. 50,000 (A) %. 10,000 (B) %. 50,000
(C) Rs.75,000 (D) Rs.1,00,000 (C) %. 75,000 (D) ®. 1,00,000
65. ;;hert& car:fhe no ipirh of self-glclwa_rnmem 65. ‘g% T g A TRt 3R i oFami ¥ 3
out us, It we take away or allow others T T - _ “‘
o take from the peasants almost the whole e e G‘lﬁimﬁi —%1 fﬁ THT E'ﬁ] .
Ot the results of their labour. Qur salvation iy PN Iﬁaﬁé T ey
can only come through the farmer. Neither el 9 o HTEqH | 371 Hehell ¢ Eficic]
the lawyers, nor the doctors, nor the rich A ffeeas, 7 & sl sifar sl s A & |
l‘andlords are going to secure it". The I8 yfirg
famous quote Is uttered by T BRI |
(A) Bhagath Singh | (A) waaE
(B} Chandrashekhar Azad (B) TEIET JETE
(C) M. K. Gandhi (C) TH. &, i
(B) None of the above k.
(D) 34 @ ¥ 78]
66. Which of the following #
wing form an AP 7 . T=fafiss © ' *
(A) 1,1,2,2,3,3, .. > S O e At ) ¢

(A) 1,1,2,2,3.3, ..
(B) 0.3,0.33,0.333, ...

(C) v2,2,2V3, 4 .
(D) 9.9+v3,9+243,9+3/3

(B) 0.3,0.33,0.333 _
(C) v2,2,242 4 .
(D) 8,9++3,9+2/3 943/3

67. Haryana government In th
declared that it will develop,

e year 2015, | 67 Eﬁumnmrzﬁaﬁzmsﬁqﬁﬁﬁaﬁmaﬁ

as the smart city. - =5 jﬁgﬁ ! TR ¥ w7 i Rrphrm
|
(A) Gur?aun (B) Ambala (A) Tt .
(C) Panipath (D) Thar C) TR (B) afamen
(D) =

68. Which of the followin :
touch MealE aiies ?shc;:n';ﬂﬂs does not [ 68. i’_g E EEas E TR 92 =5y T3] T
(A) Greece B) Spain (A) T
(C) Turkey (D) Germany (C) =fF . Eg) ?_;:ﬁ

) F
P 42-
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Enguds._h_hl...a,uguaﬂﬁ

ge the COMeCt meaning of the underlined idipp,

.. ff.:fg-_.:‘ the given options.

70
s

i |

71. Ram gave me

- Heis

|
ey
.
S——

The speaker of the Lok Sabha stirreg up

: a hormets nest by referring to the 1mpenﬁlng

changes in several rules.

(A) make an untrue story
(B) raise controversy

(C) confused himself

(D) periorm a difficult task

You cannot befool me, as | was not bor

yesterday.
(A) weak
(8)
(C)
(D)

worldly wise
unable to understand

give false hope

| Filin the blanks with suitable articles wherever
Decessary.

one rupee note.

(A) Not needed
(B) The

(C) An

D) A

honour to his profession.

(A) The

(B) A

(6) Not needed
D) An
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Fill in the blanks Wit aat

Ta.

74,

correct options.

«They could have been delayed by the
snow”. Yes, they

(A) could have

(B) cou d be

(C) could been

(D) couldn’t have been

it disclearly
*n'\erapﬂrtlsvarycrmcalan . e
(A) Intended to (B) Intended to be
(C) Intended (D) Intend to be

Pick out the wrongly spelt word from the given

waords.

75.

76.

Villaineous
Transience
Grievance
Receive

(A)
(B)
(C)
(D)

(A)
(B)
(C)
(D)

Etiquette
Lieutenant
Solliloquy
Bureaucracy

Fill in the blanks with suitable forms of verbs.

7.

78.

-13-

We
(A) reads
(B) was reading
(C) have been reading
(D) has been reading

(read) since 2 O'clock.

He will unlock the do

t
ety or \fuhen he (get)
(A) is Etliing (B) got
©) gets (D) has got

P
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79, Tagy o+ wpoye = farsaE 98 ﬁ:ﬂﬁ
SINE Y |
(A} =ge |ft (8) TV EIN
(C) gradf (D) e i

80. Sief sywegd % wisgw @ wiga &9 # ey
1 I &, 76 - AEEREAE 7

(A) TN (B) AJIH
(C) s (D) HHe

81. oot 3§ & od adh = m ifb |
- . oo

|

I

|

o
'8
|
s anf
R R NS M
| l
mﬂag&;*ﬂf
mi:-:-':a-il'-ﬂ*-:m-hr."-“’-5—:”--55
I .
1A aal, )
_i_‘ ﬁmm
o
|
ANk,

85. “TTEH HTS HIA1 " T AR A WY 7 g

it 9 |

(A) TTeTaIere Tl e, quﬂ'{,ﬂﬁr@lﬂ,
Sy & BRI & el

(B) =ufFqaras w31, ©ffém SR,
FOTHNE, 'H'Tm%*ﬁm?ﬁwﬁ

(C) snfqamss |91, qfean, agaey,

(D) wWi=EaT=E® dFI, e, sgddd,
iR, Oy & T 1wt 2

B6. Wi fer = wreft g @ 7

(A) TV (B) Ha
() iz (D) it

87. Wﬁﬁwmmwﬁaﬁﬁm

B
g D
B8. I ¥R % wmy A
o m;ﬁfﬁﬁﬂﬁm%?
C) =
(D) &
89. 'aﬁmﬁmw ;
(A) T8 § waegy wa——.
(B) U gui &y
(C) sy T -5
(D) iz sy
90. W ¥ g
et mm%lﬂ?m#ﬂ
(A) Wtﬁﬁl‘gnﬁ
(B) W& 3w
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